

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT-390007 Ph.No.0265-2350630 39 Website www.neptunerealtygroup.com

## **WORK ORDER**

WO No.

32

SHIP TO:

WO Date:

08/01/2021

NEPTUNE ASSOCIATES

**Contractor Name** 

**GOODEE ENTERPRISE** 

**GREENWOODS SERENITY** 

Address:

SHOP NO - 3, RUKMA APARTMENT,

Greenwoods Serenity, Opp, Vicenza Highlands,

1-A SHRINAGAR SOCIETY,

Sevasi - Sindhrot Rd, b/h, FGI Campus, Gotri,

AKOTA, VADODARA

Vadodara, Gujarat 391101

**Contact No** 

9327231421

WO Title

PAN:

Waterproofing, Chemi

GST:

GST No:

24AAAAN5530F1Z0

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	6
1	INFRA COMPOUND WALL REBARING WORK						
	LABOUR FOR 10 MM REBARING	2.00	NOS	90.00	180.00	0	%
Spc.	Misc Rebaring at Compound wall - 10mm						
2	CLUB HOUSE RCC WORK UP TO PLINTH LEVEL SLAB						
	LABOUR FOR 10 MM REBARING	120.00	NOS	90.00	10800.00	0	%
Spc.	Misc 10mm Rebaring work at Culbhouse						
3	CLUB HOUSE UP TO GROUND FLOOR REBARING WORK LABOUR FOR 10 MM REBARING	100.00	NOS	90.00	9000.00	0	%
Spc.	Misc 10mm Rebaring work for Club house	100.00	NOS	90.00	9000.00		/0
4 Spc.	CLUB HOUSE UP TO GROUND FLOOR REBARING WORK LABOUR FOR 08 MM REBARING Misc Rebaring work at Club House - 8mm	200.00	NOS	68.00	13600.00	0	%
5	CLUB HOUSE UP TO GROUND FLOOR						
J	REBARING WORK LABOUR FOR 10 MM REBARING	119.00	NOS	90.00	10710.00	0	%
6	CLUB HOUSE UP TO GROUND FLOOR REBARING WORK		-				
	LABOUR FOR 10 MM REBARING	100.00	NOS	90.00	9000.00	0	%
Spc.	10 MM REBARING						

7	CLUB HOUSE UP TO GROUND FLOOR						
	REBARING WORK						
	LABOUR FOR 12 MM REBARING	100.00	NOS	95.00	9500.00	0	
Spc.	12 MM REBARING						
8	CLUB HOUSE UP TO GROUND FLOOR						
	REBARING WORK						
	LABOUR FOR 16 MM REBARING	100.00	NOS	180.00	18000.00	0	
Spc.	16 MM REBARING						
9	INFRA CLUB HOUSE GROUND FLOOR MISC						
	WORK LABOUR FOR BREAKER (DAY)	25.00	DAY	750.00	18750.00	0	
Spc.	• •						
10	CLUB HOUSE WATERPROOFING WORK						
	LABOR FOR CRYSTALLIZATION	1,705.00	SQFT	45.00	76725.00	0	
	WATERPROOFING (SQFT)	1,703.00	30. 1	13.00	70723.00		_
Spc.	Misc Water proofing work with required crystallization process						
11	CLUB HOUSE WATERPROOFING WORK						
	LABOR FOR CHEMICAL WATTA (RFT)	881.00	RFT	15.00	13215.00	0	
Spc.	Misc Chemical Watta work done at Clubhouse for waterproofing						
12	VILLA A1 FIRST FLOOR RCC WORK FOR SLAB						
Spc.	LABOUR FOR 16 MM REBARING  Misc. 16 mm Rebaring for Villa	6.00	NOS	360.00	2160.00	0	
ope.	misc. To fillif Repairing for Vitta						
13	VILLA A1 CIVIL WORK UP TO SECOND FLOOR REBARING WORK						
	LABOUR FOR 08 MM REBARING	111.00	NOS	68.00	7548.00	0	
Spc.	Misc Rebaring work at Villa 1						
Spc.	Misc Membrane Base Water proofing work done at Villa A1						
15	VILLA A1 WATERPROOFING WORK						
	LABOR FOR MEMBRANE BASED	1,000.00	SQFT	45.00	45000.00	0	
Spc.	WATERPROOFING (SQFT) Misc Waterproofing work (Membrane Based )						
. p = 0	at Villa A1						

16	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	35.00	NOS	30.00	1050.00	0	
рс.	Misc Rebaring work at Villa A - 8mm (Without Chemical)						
17	VILLA A1 COMMON CIVIL WORK						
Spc.	LABOUR FOR 12 MM REBARING  Misc. 12nn rebaring at Villa 1	15.00	NOS	95.00	1425.00	0	_
•							
18	VILLA A1 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	25.00	NOS	500.00	12500.00	0	
19	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	29.00	NOS	90.00	2610.00	0	
Spc.	Misc. 10mm Rebaring work at Villa 1						
20	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	8.00	NOS	90.00	720.00	0	
Spc.	Misc Rebaring at Villa A1 - 10mm						
21	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 12 MM REBARING	20.00	NOS	95.00	1900.00	0	
Spc.	Misc Rebaring at Villa A1 - 12mm						
22	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	100.00	NOS	68.00	6800.00	0	
Spc.	Misc Rebaring work for Villa A1 - 8mm						
23	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	· ·			· · · · · · · · · · · · · · · · · · ·			_
24	VILLA A1 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.			-				_
25	VILLA A1 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	

as p	per the instruction given by our site incharge.						
26	VILLA A1 SWIMMING POOL						
	LABOR FOR CRYSTALLIZATION WATERPROOFING (SQFT)	450.00	SQFT	51.75	23287.50	0	
Spc.	1 Layer of Waterproofing Treatment with Cystalization Method at Villa A1						
27	VILLA A1 SWIMMING POOL						
	LABOUR FOR VATA	100.00	RFT	17.25	1725.00	0	
Spc.	Misc Vata work for Villa A1 - Swimming Pool						
28	VILLA A2 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
29	VILLA A2 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
30	VILLA A2 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
31	VILLA A3 GROUND FLOOR RCC WORK FOR SLAB LABOUR FOR 12 MM REBARING	10.00	NOS	05.00	050.00	0	
Spc.		10.00	NOS	95.00	950.00	0	
32	VILLA A3 CIVIL WORK UP TO GROUND FLOOR REBARING WORK						
	LABOUR FOR 08 MM REBARING	100.00	NOS	68.00	6800.00	0	
Spc.	08 MM REBARING						
33	VILLA A3 COMMON CIVIL WORK	25.55	Nec		10705	-	
24	LABOR FOR PRESSURE GROUTING (NOS)	25.00	NOS	500.00	12500.00	0	
34	VILLA A3 COMMON CIVIL WORK	42.00	NOC	05.00	4440.00	^	
Spc.	LABOUR FOR 12 MM REBARING  Misc Rebaring at Villa A3 - 12mm	12.00	NOS	95.00	1140.00	0	_
35	VILLA A3 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	4.00	NOS	90.00	360.00	0	
Spc.	Misc Rebaring at Villa A3 - 10mm						

36	VILLA A3 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
pc.	Misc Breaker Work for Villa						
7	VILLA A3 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
pc.	Misc. Pressure Grouting Work for Villa						
8	VILLA A3 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
pc.	Misc Rebaring work for Villa						
19	VILLA B4 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
pc.	Misc. Pressure Grouting Work for Villa						
10	VILLA B4 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
pc.	Misc Rebaring work for Villa						
41	VILLA B4 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
pc.	Misc Breaker Work for Villa						
12	VILLA A5 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
pc.	Misc Breaker Work for Villa						
13	VILLA A5 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	_
pc.	Misc Rebaring work for Villa						
4	VILLA A5 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

45	VILLA A5 WATERPROOFING WORK						
	LABOR FOR CRYSTALLIZATION	551.00	SQFT	45.00	24795.00	0	
	WATERPROOFING (SQFT)						
pc.	Water proofing, Rcc Wall and Slab Cleaning, Watta and etc						
16	VILLA A5 WATERPROOFING WORK						
	LABOR FOR CHEMICAL WATTA (RFT)	94.00	RFT	15.00	1410.00	0	
Spc.	Chemical / Canopy Chemical Watta						
47	VILLA A6 WATERPROOFING WORK						
	LABOR FOR CHEMICAL WATTA (RFT)	236.00	RFT	15.00	3540.00	0	
Spc.	Chemical / Canopy Chemical Watta						
48	VILLA A6 WATERPROOFING WORK						
	LABOR FOR CRYSTALLIZATION	551.00	SQFT	45.00	24795.00	0	
Spc.	WATERPROOFING (SQFT) Water proofing, Rcc Wall and Slab Cleaning,						
	Watta and etc						
49	VILLA A6 COMMON CIVIL WORK						
Spe	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
50	VILLA A6 COMMON CIVIL WORK						
C	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
51	VILLA A6 COMMON CIVIL WORK						
Spc.	LABOUR FOR BREAKER (HR)  Misc Breaker Work for Villa	5.00	HRS	200.00	1000.00	18	_
	MISC DIEAREI WOIK TOI VIIII						
52	VILLA B7 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
53	VILLA B7 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

	per the instruction given by our site incharge.						
54	VILLA B7 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
55	VILLA B8 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
56	VILLA B8 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
57	VILLA B8 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
58	VILLA A9 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
59	VILLA A9 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
60	VILLA A9 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
61	VILLA A10 COMMON CIVIL WORK						
Cr.	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
62	VILLA A10 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
63	VILLA A10 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						

as p	per the instruction given by our site incharge.						
64	VILLA A11 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
65	VILLA A11 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
66	VILLA A11 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
67	VILLA A12 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
68	VILLA A12 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
69	VILLA A12 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
70	VILLA A13 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
71	VILLA A13 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
72	VILLA A13 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
73	VILLA A14 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Snc	Misc. Pressure Grouting Work for Villa		_			_	

74		per the instruction given by our site incharge.						
Spc.   Misc Rebarring work for Villa	74	VILLA A14 COMMON CIVIL WORK						
VILLA A14 COMMON CIVIL WORK   LABOUR FOR BREAKER (HR)   5.00 HRS   200.00   1000.00   18		LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
LABOUR FOR BREAKER (HR)   5.00 HRS   200.00   1000.00   18	Spc.	Misc Rebaring work for Villa						
Spc.   Misc   Breaker   Work for Villa	75	VILLA A14 COMMON CIVIL WORK						
76 VILLA A15 COMMON CIVIL WORK LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  SPC. Misc Breaker Work for Villa  77 VILLA A15 COMMON CIVIL WORK LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  SPC. Misc Rebaring work for Villa  88 VILLA A15 COMMON CIVIL WORK LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  SPC. Misc. Pressure Grouting Work for Villa  79 VILLA A16 COMMON CIVIL WORK LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  SPC. Misc. Pressure Grouting Work for Villa  80 VILLA A16 COMMON CIVIL WORK LABOUR FOR OB MM REBARING 50.00 NOS 68.00 3400.00 0  SPC. Misc. Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  SPC. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  SPC. Misc Breaker Work for Villa		LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
LABOUR FOR BREAKER (HR)  5.00 HRS  200.00  1000.00  18  SPC. Misc Breaker Work for Villa  77 VILLA A15 COMMON CIVIL WORK LABOUR FOR 08 MM REBARING  50.00 NOS  500.00  500.00  500.00  500.00  500.00  500.00  500.00  500.00  500.00  6  500.00  7  6  6  6  6  6  6  6  6  6  6  6  6	Spc.	Misc Breaker Work for Villa						
SPC.   MISC Breaker Work for Villa	76	VILLA A15 COMMON CIVIL WORK						
77 VILLA A15 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  Spc. Misc Rebaring work for Villa  78 VILLA A15 COMMON CIVIL WORK  LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  Spc. Misc. Pressure Grouting Work for Villa  79 VILLA A16 COMMON CIVIL WORK  LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  Spc. Misc. Pressure Grouting Work for Villa  80 VILLA A16 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  Spc. Misc Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa		LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
LABOUR FOR 08 MM REBARING   50.00 NOS   68.00   3400.00   0	Spc.	Misc Breaker Work for Villa						
Fig. Misc Rebaring work for Villa  78  VILLA A15 COMMON CIVIL WORK	77							
VILLA A15 COMMON CIVIL WORK			50.00	NOS	68.00	3400.00	0	
LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  Spc. Misc. Pressure Grouting Work for Villa  79 VILLA A16 COMMON CIVIL WORK LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  Spc. Misc. Pressure Grouting Work for Villa  80 VILLA A16 COMMON CIVIL WORK LABOUR FOR 8MM REBARING 50.00 NOS 68.00 3400.00 0  Spc. Misc Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK LABOUR FOR OR MM REBARING 50.00 NOS 68.00 3400.00 0	Spc.	Misc Rebaring work for Villa						
Spc.   Misc. Pressure Grouting Work for Villa	78	VILLA A15 COMMON CIVIL WORK						
79 VILLA A16 COMMON CIVIL WORK  LABOR FOR PRESSURE GROUTING (NOS) 10.00 NOS 500.00 5000.00 0  Spc. Misc. Pressure Grouting Work for Villa  80 VILLA A16 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  Spc. Misc Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0		LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
LABOR FOR PRESSURE GROUTING (NOS)  10.00 NOS 500.00 5000.00 0  5pc. Misc. Pressure Grouting Work for Villa  VILLA A16 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  5pc. Misc Rebaring work for Villa  VILLA A16 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  5pc. Misc Breaker Work for Villa  VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  5pc. Misc Breaker Work for Villa  VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  VILLA A17 COMMON CIVIL WORK  LABOUR FOR OR MISC BREAKER (HR) 5.00 HRS 200.00 1000.00 18  VILLA A17 COMMON CIVIL WORK  LABOUR FOR OR MISC BREAKER (HR) 5.00 HRS 200.00 3400.00 0	Spc.	Misc. Pressure Grouting Work for Villa						
Misc. Pressure Grouting Work for Villa	79	VILLA A16 COMMON CIVIL WORK						
80 VILLA A16 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0  Spc. Misc Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0		LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
LABOUR FOR 08 MM REBARING         50.00         NOS         68.00         3400.00         0           Spc.         Misc Rebaring work for Villa         81         VILLA A16 COMMON CIVIL WORK         200.00         1000.00         18           Spc.         Misc Breaker Work for Villa         5.00         HRS         200.00         1000.00         18           Spc.         Misc Breaker Work for Villa         5.00         HRS         200.00         1000.00         18           Spc.         Misc Breaker Work for Villa         5.00         HRS         200.00         1000.00         18           Spc.         Misc Breaker Work for Villa         5.00         HRS         200.00         3400.00         0	Spc.	Misc. Pressure Grouting Work for Villa						
Spc. Misc Rebaring work for Villa  81 VILLA A16 COMMON CIVIL WORK LABOUR FOR BREAKER (HR)  5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK LABOUR FOR BREAKER (HR)  5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK LABOUR FOR 08 MM REBARING  50.00 NOS 68.00 3400.00 0	80	VILLA A16 COMMON CIVIL WORK						
81 VILLA A16 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0		LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
LABOUR FOR BREAKER (HR)  5.00 HRS  200.00  1000.00  18  Spc. Misc Breaker Work for Villa  VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR)  5.00 HRS  200.00  1000.00  18  Spc. Misc Breaker Work for Villa  VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING  50.00 NOS  68.00  3400.00  0	Spc.	Misc Rebaring work for Villa						
Spc. Misc Breaker Work for Villa  82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0	81	VILLA A16 COMMON CIVIL WORK						
82 VILLA A17 COMMON CIVIL WORK  LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0		· · · · · · · · · · · · · · · · · · ·	5.00	HRS	200.00	1000.00	18	_
LABOUR FOR BREAKER (HR) 5.00 HRS 200.00 1000.00 18  Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0	Spc.	Misc Breaker Work for Villa						
Spc. Misc Breaker Work for Villa  83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0	82							
83 VILLA A17 COMMON CIVIL WORK  LABOUR FOR 08 MM REBARING 50.00 NOS 68.00 3400.00 0	_		5.00	HRS	200.00	1000.00	18	
LABOUR FOR 08 MM REBARING         50.00         NOS         68.00         3400.00         0	Spc.	Misc Breaker Work for Villa						
	83	VILLA A17 COMMON CIVIL WORK						
			50.00	NOS	68.00	3400.00	0	

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	-	j				
84	VILLA A17 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
85	VILLA A18 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
86	VILLA A18 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
87	VILLA A18 COMMON CIVIL WORK	F 00	LIDC	200.00	4000.00	40	
Snc	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
88	VILLA A19 COMMON CIVIL WORK						
<b>C</b>	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
89	VILLA A19 COMMON CIVIL WORK	50.00	NOS	40.00	2,400,00	•	
<u></u>	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
spc.	Misc Rebaring work for Villa						
90	VILLA A19 COMMON CIVIL WORK						
<b>C</b>	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
91	VILLA A20 COMMON CIVIL WORK	40.00					
<u> </u>	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
92	VILLA A20 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
93	VILLA A20 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						

	have pleasure in placing with you our Work order for the er the instruction given by our site incharge.	c rottowing cont	race Killary	execute the work			
94	VILLA A21 UP TO GROUND FLOOR RCC WORK						
	FOR SLAB	9.00	NOC	00.00	720.00	0	
<u></u>	LABOUR FOR 10 MM REBARING	8.00	NOS	90.00	720.00	0	9
spc.	Misc. 10 mm Rebaring for Villa						
95	VILLA A21 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	9
Spc.	Misc Breaker Work for Villa						
96	VILLA A21 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	9
Spc.	Misc Rebaring work for Villa						
97	VILLA A21 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	9
Spc.	Misc. Pressure Grouting Work for Villa						
98	VILLA A 21-22 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	9
Spc.	Misc. Pressure Grouting Work for Villa						
99	VILLA A 21-22 COMMON CIVIL WORK	50.00	Noc	40.00	2,400,00		
Spc	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	9
Spc.	Misc Rebaring work for Villa						
100	VILLA A 21-22 COMMON CIVIL WORK						
C	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	9
Spc.	Misc Breaker Work for Villa						
101	VILLA A23 UP TO GROUND FLOOR RCC WORK FOR SLAB						
	LABOUR FOR 10 MM REBARING	8.00	NOS	90.00	720.00	0	9
Spc.	Misc. 10 mm Rebaring for Villa						
102	VILLA A23 UP TO GROUND FLOOR RCC WORK						
	FOR SLAB  LABOUR FOR 12 MM REBARING	9.00	NOS	95.00	855.00	0	9
Spc.					223.00		
103	VILLA A23 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	25.00	NOS	500.00	12500.00	0	9
	· · · · · · · · · · · · · · · · ·						_

104	VILLA A23 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
105	VILLA A23 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
106	VILLA A23 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
107	VILLA A24 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
108	VILLA A24 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
109	VILLA A24 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
110	VILLA A25 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
111	VILLA A25 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
112	VILLA A25 COMMON CIVIL WORK						
_	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
113	VILLA A26 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

114	VILLA A26 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
15	VILLA A26 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
16	VILLA A27 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
17	VILLA A27 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	_
Spc.	Misc Rebaring work for Villa						
118	VILLA A27 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
119	VILLA A28 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
120	VILLA A28 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
121	VILLA A28 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
spc.	Misc Breaker Work for Villa						
22	VILLA A29 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
23	VILLA A29 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	

124	VILLA A29 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
25	VILLA A30 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
126	VILLA A30 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	_
Spc.	Misc Rebaring work for Villa						
127	VILLA A30 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
128	VILLA A31 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
129	VILLA A31 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	_
Spc.	Misc Rebaring work for Villa						
130	VILLA A31 COMMON CIVIL WORK						
_	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
131	VILLA A32 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	_
Spc.	Misc. Pressure Grouting Work for Villa						
132	VILLA A32 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	_
Spc.	Misc Rebaring work for Villa						
133	VILLA A32 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	

134	VILLA A33 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
135	VILLA A33 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
136	VILLA A33 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
137	VILLA A34 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
138	VILLA A34 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
139	VILLA A34 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
140	VILLA A35 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
141	VILLA A35 COMMON CIVIL WORK						
C	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
142	VILLA A35 COMMON CIVIL WORK						
<u>c</u> .	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
143	VILLA B36 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

as p	per the instruction given by our site incharge.						
144	VILLA B36 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
145	VILLA B36 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	13.00	NOS	90.00	1170.00	0	
Spc.	Misc. 10mm Rebaring work at Villa 36						
146	VILLA B36 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
147	VILLA A37 COMMON CIVIL WORK					_	
	LABOUR FOR 10 MM REBARING	13.00	NOS	90.00	1170.00	0	
Spc.	Misc. 10mm Rebaring work at Villa 37						
148	VILLA A37 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
149	VILLA A37 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
150	VILLA A37 COMMON CIVIL WORK						
_	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
151	VILLA A38 COMMON CIVIL WORK						
C	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
152	VILLA A38 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
153	VILLA A38 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						

154	VILLA A39 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
155	VILLA A39 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
156	VILLA A39 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
157	VILLA A40 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
158	VILLA A40 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
159	VILLA A40 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
160	VILLA B41 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
161	VILLA B41 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	_
Spc.	Misc Breaker Work for Villa						
162	VILLA B41 COMMON CIVIL WORK						
_	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
163	VILLA B42 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

	have pleasure in placing with you our Work order for per the instruction given by our site incharge.	the following cont	ract kindly (	execute the work			
as p 164	VILLA B42 COMMON CIVIL WORK						
104	LABOUR FOR BREAKER (HR)	5.00	HRS	200,00	1000.00	18	ç
Spc.	Misc Breaker Work for Villa	3.00	TIIG	200,00	1000.00	10	
165	VILLA B42 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	9
Spc.	Misc Rebaring work for Villa						
166	VILLA B43 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
167	VILLA B43 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
168	VILLA B43 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
169	VILLA B44 CIVIL WORK UP TO PLINTH RCC						
	WORK FOR SLAB				<b></b>		
470	LABOUR FOR 16 MM REBARING	2.00	NOS	360.00	720.00	0	
170	VILLA B44 COMMON CIVIL WORK				1000 00		
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
171	VILLA B44 COMMON CIVIL WORK	22.00	NOS	05.00	2000.00	•	
Spc.	LABOUR FOR 12 MM REBARING  Misc. 12nn rebaring at Villa 44	22.00	NOS	95.00	2090.00	0	
172	VILLA B44 COMMON CIVIL WORK						
.,,	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.		30.00	1103	00.00	3400.00		
173	VILLA B44 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						

174	VILLA B45 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	
Spc.	Misc. Pressure Grouting Work for Villa						
175	VILLA B45 COMMON CIVIL WORK						
	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
176	VILLA B45 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	5.00	NOS	90.00	450.00	0	
Spc.	Misc. 10mm Rebaring work at Villa 45						
177	VILLA B45 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
178	VILLA B46 COMMON CIVIL WORK						
	LABOUR FOR BREAKER (HR)	5.00	HRS	200.00	1000.00	18	
Spc.	Misc Breaker Work for Villa						
179	VILLA B46 COMMON CIVIL WORK						
	LABOUR FOR 10 MM REBARING	5.00	NOS	90.00	450.00	0	
Spc.	Misc. 10mm Rebaring work at Villa 46						
180	VILLA B46 COMMON CIVIL WORK						
Cn-	LABOUR FOR 08 MM REBARING	50.00	NOS	68.00	3400.00	0	
Spc.	Misc Rebaring work for Villa						
181	VILLA B46 COMMON CIVIL WORK						
	LABOR FOR PRESSURE GROUTING (NOS)	10.00	NOS	500.00	5000.00	0	

825740.50	Contract Amount (A)
8280.00	Total GST (B)
834020.50	Total (A + B)

Terms & Conditions

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

## **SAFETY TERMS**

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- \* All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- \* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd.

At project site office officialy.

- \* Biling amount should not exceed the rate and total value mentioned in this WO.
- \* Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE ASSOCIATES			
	_		
Authorized Signatory			